=CN
=

TR

T
Psi

1. TE4
THE4 BOWEMXFRIE L0 SFRMEM (Fo5) TEF
THEHA BRI A SR T It 5
2. THEHNE
1) HEI4 KFFIFEET L5
2) &£ T f OB - MR ETE
3) T i 337 H ¥ H 0 64 8H26H
= SFn T TH28H
4) TEyE

SR ST KR S W )




it
W
S
%
I

T=E4

B OWHIXABZE L9~ ) e SR i (20 5) T

TEHEX Sy - THE - R B {7 % & # il pall 2! R
Ak k) 3R =X 273, 453, 530
PIERL T = 261, 573, 901
ST = 261,573,901 | £HEHT (No. 33) 1 i
PR (B%)  1500mm (2000mm) S E & (BLE)
42.5m(42. 5m) ; HRHI, BHA BUGEUEL, A8 . 2
APV = VIV R O PR U BE R E e
FRE AT (No. 34) 1 %N
PR (B%)  1500mm (2000mm) S E & (BLE)
42. 0m(42. Om) ; HRHI, BHA  BUGEUEL, &8 fh. 2
APV = VIV R O PR U BE R E e
#ME A (No. 35) 1 %N
PR (B%)  1500mm (2000mm) $H4EE & (BLE)
42. 0m(42. Om) ; HRHI, BHA  BUGEUEL, 8 fh. 2
APV VIV R O BT RE U BE B e
#RE AT (No. 36) 1 %N
PR (B%)  1500mm (2000mm) S E & (BLE)
41.5m(41. 5m) ; HRHI, BHA BUGEUEL, A8 . 2
APV VIV R O PR U BE R E e
FEHA O-27) 1 X
+Hw 550, 000m3 AT ;
b 1 =X
+wp CEHR - ERIRY LET) ;
b 1 =X
o
EES0y 1 X
HEE L = 123, 390
REVEITUE LT = 78,456 |2V -MEEY EEE L 3 m3
BRAHEY) HEOE L FHAE T
ERZE R 15 m
t=bcm ;
il ARG e 7 m2
-1- E2RRiEg s i S




il
W
>
%%%
I

THE4 | BOWEHIKTRE LS~ R (£o5) TH

TEHEX Sy - THE - R B {7 ¥ & & # A bl A iR
t=bem ; FHIAG T
B A 2= 1 2 1 17,875 | BaEMMHELE (07— v-0) 13 m
Gr—C—4E ;
TR AL T = 1 27,059 | EE 3 m3
/) -hik Bk
e 0.4 m3
TAT7IVNE
By 3 m3
/) -hik Bk
By 0.4 m3
TAT 7V
% T = 1 11, 756, 239
IRK T 2 1 283,435 |fEELT 1 =
s RIE Y MR L&D
KRR 25 m
REER VFVE (V)7 MEE) ¢ 300 MEFLE
WEELe
VEZEY-N i T 2 1 5,901, 544 | fE3Ey-1 &t 610 m3
s A LET
TEHEEI (B ) 9 m2
TR I B 6O . BRI M
KAI+D H 229 &
BUE - BE BEA L W (R EMRER34E5HG)
TeF 45 m2
HAITyv47 RC-40 F/E300mm ;
HERAR 1 X
22X 1524 X 6096 BG4 ; RE WEE D
5% 2% 0 L = 1 2,572,460 |BHEN A 1 =
; BXIE AR EEE D
RIEET =X 1 2,998, 800 |AZiEHEE i E 1 =X

-2 - SR ST KR S W )




THE4 | BOWEHIKTRE LS~ R (£o5) TH

TERXSy - THE - R Hofr B & & il bl M EN

BT EE =X 1 273, 453, 530
B RER =X 1 26, 675, 000
e TE: X 1 9, 284, 000

R F2y 1 7,108,000 | HE RGN 3 R S a0k 1 F2y
B BREYGEY, (G L) =X 1 2, 176, 000
Hom e (RFkL) =X 1 17, 391, 000
T =X 1 300, 128, 530
B FR =X 1 67, 318, 000
N i =X 1 367, 446, 530
— R A =X 1 52, 613, 470
Tk =X 1 420, 060, 000

-3 - SR ST KR S W )




